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QUESTION 1

Which of the following is TRUE about DB2 OLAP functions?

A. They return scalar values and not array values

B. There are no DB2 monitor elements specific to OLAP functions

C. OLAP functions are not supported in a common table expression (CTE)

D. OLAP aggregation functions are not supported with column organized tables

Correct Answer: C

QUESTION 2

Which of the following is TRUE regarding user switching in a trusted context?

A. You cannot switch user id in a trusted context.

B. You can issue a switch-user request within a transaction.

C. The new user must have the connect-privilege on the database for it to succeed.

D. No password is ever required for the new user as an authentication is established in the trusted connection.

Correct Answer: D

QUESTION 3

What is the maximum precision for the DECIMAL data type?
A7

B. 15

C.23

D.31

Correct Answer: D

A decimal number is a packed decimal number with an implicit decimal point. The position of the decimal point is
determined by the precision and the scale of the number. The scale, which is the number of digits in the fractional part

of the number, cannot be negative or greater than the precision. The maximum precision is 31 digits.

Reference https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/intro/src/tpc/
db2z_numericdatatypes.html__
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QUESTION 4

Which of the following editions of DB2 include support for Federation with Oracle database?
A. DB2 Express-C

B. DB2 Developer Edition

C. DB2 Enterprise Server Edition

D. DB2 Workgroup Server Edition

Correct Answer: C

QUESTION 5

Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions?
A. Sequence

B. Row Identifier

C. Identity Column

D. Insert time clustering table

Correct Answer: A
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